A6 42 A /KE AR
# # I H K41 H
% 2 A A Fi64E2 H 8 H
No |47 x 5 FE| L | PR KR B K R
0 B C -1.0 -1.0
7K i’ C 8.0 7.5
5% e i | mg/0
1 |— i gl =,/ml 8 0
2 |k 5 N s N
3 KNI UAKOEO®IL A W mg/l <0.0002 <0.0002
4 |k fE & w® = o b & 9| mg/b <0.00005 <0.00005
5 |tk v kWY E O b A& | mg/o <0.001 <0.001
6 |&0 /32 » o b A& ¥ mg/L <0.001 <0.001
7T 8 EF K O F o b A W mg/ 0.002 <0.001
8 [ M 7 v A& 4t & ¥ mg/o <0.001 <0.001
9 |® il e fe E | mg/0 <0.004 <0.004
10 |7 A4 KL 7| mg/l <0.001 <0.001
L1 |FE B8 fE 2 32 K OVHR il 8 B 2 | mg/0 0.28 0.94
12 |7 v F Kk % 0 b & % mg/0 0.20 0.26
13 |7 F EO®ZE o0 A Y mg/t <0.1 0.6
14 |4 iy e R | mg/0 <0.0001 <0.0001
5 (1,4 — ¥ 4 % B+ v mg/ <0.005 <0.005
16 | A REEIV RO AL e | €0.0002 | <0.0002
17 v J moom A 4 v mg/b <0.0001 <0.0001
8 75 F 3 7 v v = F v v mg/ <0.0001 <0.0001
9 YV 7 8B o8 = F LV v omg/h <0.0001 <0.0001
20 |~ ' v ¥ ' v| mg/0 <0.0001 <0.0001
21 |4 e fi2| mg/0
22 |7 = =4 HE | mg/0
23 {7 0 = H 2 Al mg/0
24 |V 4 =4 |5 i3 fiz| mg/0
25 |v 7 0 E /v ouw A4 v mg/b
26 | R # | mg/0
21 | F VY o~ m A A4 v mg/e
28 |k ! 7 = = EE Rl mg/0
29 |7 " m ® ¥ "/ omom A 4 v mg/o
30 7 ' om0 & M A mg/e
31 | v A T v F b K| mg/e
32 |l ¢ K O F o b A& | mg/o <0.01 <0.01
3B3NT A= LK OEOANAA W me/o <0.01 <0.01
M |k Kk O F o b A& Y| mg/o <0.01 <0.01
3B |8 Kk O o b A& Y| mg/o <0.01 <0.01
36 |7 RV A K BYE DA A Y| mg/o 8 42
3N | v kO E DAL A W mg/o <0.001 <0.001
38 |H e 17| 4 7 >| mg/0 6.1 66.1
39 |pAvuh %l xvyAE (BE )| me/0 70 245
40 |7 7 05 M )| mg/0 163 488
41 (B2 4 A v R/ om & M Al mg/o <0.02 <0.02
42 |¥ - 7 2 2 | mg/0 | <0.000001 <0.000001
43 12 = AF VLAY KRV XA — mg/0 | <0.000001 <0.000001
4 I 4 A K om IE M A mg/e <0.005 <0.005
45 |7 - J — Jb $H| mg/0 <0.0005 <0.0005
16 B (2HHKKSE (TOC) D&E)| mg/o <0.3 <0.3
47 |p H | pH 6.7 6.8
48 S
49 |5 & B L
50 (A BB <1 <1
51 | B B <0.05 <0.05
54 MR AMESF R E (7 = vy a2 R Ak H R
55 | K i MPN/100m1 0.0 0.0
IV T NARI T MEEE R A
P8 K H SR6AE2 H 13 H
£R i % ol e | B | 2 s | 3 | R4S
B |\l C 3.0 2.0 2.0 2.0
7K i\ C 11.0 10.5 11.0 11.0
BERMFERE (T LY 2 ) Ak H AHRH AFR AhRH
K 2 MPN/100m] 0.0 0.0 0.0 0.0
e 7K A SN2 H20H
B K % P 5T | BT 0T L5 135
0 i’ C 15.0 15.0 15.0 15.0 15.0
7K i’ C 12.0 11.0 11.5 11.0 13.0
PR PR (Y=L o) A HRH AR H A HRH N A FRH
x 17 4 [ ven/100m1 0.0 0.0 0.0 0.0 0.0




TG 2 H 3 K E A R

B 7 I H /K& WA nlEE T H At
54 K H SAI6E2 H 14 H
e K 1 i T g | PG DX A | 1B o AR L | Y Vit ol
= w c 9.0 9.0 8.0 8.0
K wHC 10.5 10.5 11.0 10.0
% 7 i #[ me/o 0.22 0.22 0.22 0.46
— % o =,/ ml 0 0 0 0
X % Ak H A H Ak H A
oWt W a4 4 | mg 5.9 56.8 40.1 2.6
A (2 AHRE(TOC) 0 )| me/e <0.3 <0.3 <0.3 <0.3
D H | pH 6.8 6.9 6.8 7.4
ok HE 2L AL FE7RL A7l
B £ B2 Lo YYAND L Lo YYAND
4 L pE <1 <1 <1 <1
s I <0.05 <0.05 <0.05 <0.05
LT A MAF L RO T me/o <0.001 <0.001 <0.001 <0.001
1 # ml me/o <0.06 <0.06 <0.06 <0.06
Y = = W ml me/o <0.002 <0.002 <0.002 <0.002
y» w wm & A A mge <0.0001 <0.0001 <0.0001 0.0001
Y s m m B R mgh <0.002 <0.002 <0.002 <0.002
Yy "7 "wx souoawm A4y mgh <0.0001 0.0001 0.0001 <0.0001
B % w| me/o <0.001 <0.001 <0.001 <0.001
@ by o~ om A 4 ] mee <0.0001 0.0001 0.0003 0.0002
Uy v om B m me <0.002 <0.002 <0.002 <0.002
7 " m ® v Juoan A4 me <0.0001 <0.0001 <0.0001 0.0001
7 B & v 4 mge <0.0001 0.0001 0.0002 <0.0001
A A A 7 A F b K| mge <0.008 <0.008 <0.008 <0.008
TAI=T AR RZE DS W meg 0.01
% & O+ o &t & | mgh <0.01
~ v A kO E DA W mg <0.001
ANV, ws vy nsE ()| me/e 211 190
7% % 7% 7 | mg/o 422 360




